In, In, out
[zofz0[50] [0T0 o] =P [1o[z0]50]

2 1In, [fo[z0[s0] [3Tz5[1] =D [3T25]1]
[Zofz0l50] [o]o [12] = [o]0]12]

1

| ]
RGB
| ]
R R
G G
B B

10|30/50{12/31|50 » 10/30|50]12(31 |50 11[31/50|11/31]50
B T Ry gt 11[31]45|11[32|55 » 11/31[50|11 31|50
1[20]30[50[10]30]50Ja.2[31]50[12]31[50

‘ '[10[0]50[10[30]50}22[31[50]12]31[50
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int n;
int *ptr; ~ ptr int

n = 50;
ptr= n; < ptr n
& &operator
. ptr n
i
2 Ine out[ jfi] = ax In,[j][i]+ @—a) x In, [ j1[i] 104 104
! 8
i PIXEL
int n;
int *ptr; typedef struct{
unsigned char r;
— . unsigned char g;
&rjqn' unsigned char b; ? px 200
":ptr =70; } PIXEL, *PPIXEL;
R indirect operator int main(void){ // 200 < r 83
pir 70 PIXEL Xx; g Bl
PPIXEL px = &x;
ptr n b| E7
80 10 : b
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void ipRotatelmage(IMAGE *plmage); | plmage->xsize |
pinage [ /

xsize| 256"

ysize| 192
level | 255

plmage->pBuffer[0]

pBuffer —

N

pXx PIXEL r
CGpx).r = 5;
*px.r = 5;

*(px.r) =5

- i
pBuffer[0] | ~<[ [ [ [ [[D
pBuFfer[11/| =N\ [ [T T[]

pinage->pButfer | i \ 7 I




*

IMAGE *plmage

pImage

xsize| 256
ysize| 192
level | 255
pBuffer —

N

(2)

pImage->pBuffer[1][3]

R
plmage->pBuffer[1][3].r

pBuffer[0] -—j %
pBuffer[1] —
— [TIIIIII
ST [T[[[T]
I ES-IIIIIIIn
pBuffer[ysize-1] e [ [ [ [ [ [ |

*

IMAGE *plmage

pImage

Xsize| 256
ysize| 192
level | 255
pBuffer —

pBuffer[0]
pBuffer[1]

1
i
pBuffer[ysize-1]

R -
plmage->pBuffer[0] [0]->r
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